For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

190-097-190 42" Mulching Kit (1993) Page 1 of 2
38" & 42" Mulching Kits

WWW.mymowerparts.com



For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

190-097-190 42" Mulching Kit (1993)

38" & 42" Mulching Kits

X
9]

—
H:

OCoOoO~NOOUGTA~,WNE

16

17
18
19

Part Number

710-0134
710-0258
710-3029
710-0932
711-0957
712-0378
712-0287
712-0291
712-0397
736-0171
736-0329
742-0539
742-0537
742-0538
748-0365
783-0024
783-0026
783-0025
783-0027
783-0028
736-0217
710-1039

Qty S/P/F  Description

Retaining Bolt

Wing Nut

Blade Adapter

NNFPEFRPFRPERPENNNMNDNNOPAANNRPRPODMNERPERDRAEREDN

TOLOLOLLLLOLOOLOOLOLOLOOOOOn T

~~

WWW.mymowerparts.com

Hex Nut 7/16-20 Thd.
Hex Nut 1/4-20 Thd.
Hex L-Nut 1/4-20 Thd.

L-Wash. 7/16" I.D.

L-Wash. 1/4" 1.D.

Mulching Blade 12.5"
Mulching Blade 19.38" (096)
Mulching Blade 21.2" (097)

Top Mulching Baffle (096)
Top Mulching Baffle (097)
Side Mulching Baffle (096)
Side Mulching Baffle (097)
Locking Bracket

L-Wash. 3/8" I.D.

Hex Bolt 3/8-24 x 1" Lg. Gr. 8

Page 2 of 2

/P Carriage Bolt 1/4-20 x .62" Lg.

S HexBolt 1/4-20 x .62" Lg.

/P Hex Bolt 7/16-20 x 1.25" Lg. (Gr. 5)
/P Carriage Bolt 1/4-20 x 1" Lg.



